ORIGINAL

STATE CORPORATION COMMISSION OF KANSAS	API NO. 15- 141-20350-0000
OIL & GAS CONSERVATION DIVISION WELL COMPLETION FORM	County <u>Osborne</u>
ACO-1 WELL HISTORY DESCRIPTION OF WELL AND LEASE	- SE - SW - SW Sec. 14 Twp. 10 Rge. 15 X W
Operator: License # 3956	330 Feet from (S) (circle one) Line of Section
Name: Brungardt Oil & Leasing, Inc.	990 Feet from Excircle one) Line of Section
Address P. O. Box 871	Footages Calculated from Nearest Outside Section Corner:
	NE, SE, NW or (W) (circle one)
City/State/Zip Russell, KS 67665	Lease Name Wedel Well # 1
Purchaser: N.C.R.A.	Field Name Ruggels
Operator Contact Person: Gary L. Brungardt	Producing Formation <u>Lansing - Kansas City</u>
Phone (785) 483-4975	Elevation: Ground 1895 KB 1900
Contractor: Name: Doc's Well Service, Inc.	Total Depth 3616 PBTD
License: 32030	Amount of Surface Pipe Set and Cemented at Feet
Wellsite Geologist: Brad Hutchinson	Multiple Stage Cementing Collar Used? X Yes No
Designate Type of Completion	If yes, show depth set Feet
X New Well Re-Entry Workover	If Alternate II completion, cement circulated from 1081
X Oil SWD SIOW Temp. Abd.	feet depth to surface w/ 236 sx cmt.
Dry Other (Core, WSW, Expl., Cathodic, etc)	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
If Workover:	
Operator:	Chloride content N/A ppm Fluid volume 100 bbls
Well Name:	Dewatering method used <u>Evaporation</u>
Comp. DateOld Total Depth	Location of fluid dispession hauled offsite:
Deepening Re-perf Conv. to Inj/SWD PBTD	0perator Name
Commingled Docket No	Lease NameLicense No
Other (SWD or Inj?) Docket No.	Quarter Sec S RngE/W
4-17-2001	County Docket No
- Room 2078, Wichita, Kansas 67202, within 120 days of the Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information on 12 months if requested in writing and submitted with the	side two of this form will be held confidential for a period of the form (see rule 82-3-107 for confidentiality in excess of 12 report shall be attached with this form. ALL CEMENTING TICKETS
All requirements of the statutes, rules and regulations promu with and the statements herein are complete and correct to t	lgated to regulate the oil and gas industry have been fully complied the best of my knowledge.
4 8 8 6	K.C.C. OFFICE USE ONLY
Signature day 1, Kling and 4	F VESLetter of Confidentiality Attached C SWireline Log Received
	C Geologist Report Received
Subscribed and sworn to before me this the day of he	Distribution KCC SWD/Rep NGPA
Notary Public Solem Stechten	KGS Plug Other
Date Commission Expires Sept. 1 2004	(Specify)
ENTRY LOADIN SECHTEN	
E A & LOATIN SECHTEM	Form ACO-1 (7-MAR 0 7 2003

Confidential

From

	_	_	
SID	١F	п	

			SIDE TWO				
perator Name Bru	ngardt Oil	& Leasing, Inc	Lease Name	Wedel		Well #	
		East	County				
ec. <u>14</u> Twp. <u>10</u>							•
NSTRUCTIONS: Show im nterval tested, time ydrostatic pressures, f more space is neede	bottom hole to	emperature, fluid rec	ns penetrated. d shut-in pressovery, and flow i	Detail all course, whethe rates if gas	ores. Report a r shut-in pres to surface durin	ell drill s sure reach ng test. A	etem tests giving ed static level, ttach extra sheet
On Geologia I rill Stem Tests Taker (Attach Additional) <i>'</i>	X Yes No	□ Log	Formation	(Top), Depth a	nd Datums	X Sample
amples Sent to Geolog		☐ Yes ☒ No	Name		Тор		Datum
ores Taken		Yes No	See	attached	geological	report	for
lectric Log Run (Submit Copy.)		X Yes No	Jump	KANSAS C	ORPORATION CO		ı
ist All E.Logs Run:					7/11/01	1.4	
Radiation G				٤,	JUL 1 1 200		
Sonic Cemen	it Bona Log			CONSI	ERVATION DI	VISION	
		CASING RECORD	New D Us				
	Report al	l strings set-conduc	tor, surface, ir	termediate,	production, etc		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs./Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Surface	12 1/4	8-5/8	24 lbs.	20₹* !***	Pozmik	150	90 Common
				**************************************		J	3 Gel 5 Chloride
Oil String	7-7/8	~4분· > · EMENTING/SQUEEZE REC	11.60	3610	ASC	306	ASC 300 Gel 6
Purpose:	Depth	er i di					
Port Collar	Top Bottom		#Sacks Used		Type and Percen	t Additive	:S
Perforate X Protect Casing	1081 to surface	Gommon (C)	236	135 Common 90 Pozmix			
Plug Back TD Plug Off Zone				11 Ge	<u> </u>		
Shots Per Foot	PERFORATIO Specify Foota	N RECORD - Bridge Plu ge of Each Interval J	ugs Set/Type Perforated	(Amount an	Fracture, Shot, d Kind of Mater	Cement So ial Used)	queeze Record Depth
2	3261 to 3	3264		15% N.	E. Acid		1800 gal
2	3237 to 3				F. Acid		1800 gal
·					A MILL		
TUBING RECORD	Size 2-3/8	Set At 3200	Packer At None	Liner Run	☐ _{Yes} 区		
Date of First, 深來知	madk Production	, SWD or Inj. Prod	ucing Method	lowing Pu	mping Gas	Lift 🗆 c	ther (Explain)
Estimated Production Per 24 Hours	n Oil	Bbls. Gas 2½ -	Mcf Wate			l Ratio	Gravity 35
Disposition of Gas:	METHOD C	F COMPLETION			roduction Inter		
Vented Sold (If vented, su			Hole Perf			mingled	
-	2	LJ Othe	er (Specify)				

ALLIED CEMENTING CO., INC.

P.O. BOX 31 PUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566

15-141-20350-00-00

Invoice Number: 083969

Invoice Date: 04/17/01

P.O. Date...: 04/17/01

Sold Brungardt Oil Company To: P. O. Box 871

Russell, KS 67665

KCC

CONFIDENTIAL

JUL 1 0 2001

CONFIDENTIAL

Camer Surface Cust I.D....: Brung P.O. Number ..: Wedel #1

Due Date .: 05/17/01

Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	ТX
Common	90.00	SKS	6.3500	571.50	E
Pozmix	60.00	SKS	3.2500	195.00	E
-Gèl îg e	3.00	SKS	9.5000	28.50	E
Chloride	5. 00 % 3 / 2 4 4 4	SKS	28.0000	140.00	E
Handling	158.00	SKS	1.0500	165.90	E
Mileage (25) 158 sks @\$.04	per sk per mi	MILE	6.3200	158.00	E
Surface	- 1 Com	JOB	470.0000	470.00	F.
Mileage pmp trk	25.00	MILE	3.0000	75.00	E
Wood plug	1.00	EACH	45.0000	45.00	E

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. Subtotal: 1848.90 Tax...: 0.00 If Account CURRENT take Discount of \$ 184.89 Payments: 0.00 ONLY if paid within 30 days from Invoice Date Total...: 1848.90

Surface pipe ,
RECEIVED horge aut 1664,09

KANSAS CORPORATION COMMISSION

7-11-21 JUL 1 1 2001

CONSERVATION DIVISION

Release

MAR 0 7 2003 From

Confidential

15-141-20350-00-00 ENTh G CO., INC.

HUSS , KS 67665 PH (785) 483-3887 FAX (785) 483-5566

Invoice Number: 084090

Invoice Date: 05/01/01

ORIGINAL

KCC

JUL 1 0 2001

CONFIDENTIAL

CONFIDENTIAL

To: P. O. Box 871 Russell, KS

Sold Brungardt Oil Company

67665

Due Date.: 05/31/01 Terms...: Net 30

Cust I.D....: Brung P.O. Number..: Wedel #1 P.O. Date...: 05/01/01

Item I.D./Desc. Qty.	Used	Unit	Price	Net	TX
ASC	300.00	SKS	8.2000	2460.00	2 E
Gettig in with a compared that we can be a superior	6.00	SKS	9.5000	57.00	
WFR-2	500.00	GAL	1.0000	500.00	
Handling	324.00	SKS	1.0500	340.20	0 E
Mileage (25)	25.00	MILE	12.9600	324.0	
324 sks @\$,04 per sk	per mi				-,
Production String	1.00	JOB	1080.0000	1080.00) E
Mileage pmp trk	25.00	MILE	3.0000	75.00	
Rubber plug		EACH	38.0000	~~~ 38.00	t t
All Prices Are Net, Pay	able 30 Days Follow	ing Subt	otal:	4874.20	0
Date of Invoice 1 1/2%	Charged Thereafter	. Tax.		0.00	ar said
If Account CURRENT take	Discount of \$ 487	.42) Paym	nents:	0.00	100
ONLY if paid within 30			11:	4874.20	- () 3 1
	그 트리 등을 가게 바다를 하는 것같다.				· .

Long String

Release

MAR 0 7 2003 From Confidential

7-11-01 IJUL 1 1 2001

KANSAS CORPORATION COMMISSION

CONSERVATION DIVISION

ALLIED CEMENTING CO., INC. 15-14-20350 - 00-00

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566

Sold

To:

INVOICE

Invoice Number: 084259

ORIGINAL

Invoice Date: 05/22/01

KCC

CONFIDENTIAL

JUL 1 0 2001

CONFIDENTIAL

Cust I.D....: Brung

P.O. Number.:: 44 iedel #1 P.O. Date...: 05/22/01

Due Date.: 06/21/01 Terms...: Net 30

Brungardt Oil Company

P. O. Box 871

Russell, KS

67665

Item I.D./Desc. Ç	ty. Used	Unit	Frice	Net	TX
Common	135.00	SKS	6.6500	897.75	Т
Pozmix	90.00	SKS	3.5500	319.50	\mathbf{T}
Ge1	11.00	SKS	10.0000	110.00	T
FloSeal	57.00	LBS	1.4000	79.80	T
Handling	341.00	SKS	1.1000	375.10	Т
Mileage (25) 341 sks @\$.04 per	「ことなる方式には自然の対象を対象を対象を対象を表現を表現し、こと、となるものが行うを対象を対すら、イン・レン・ジン・	MILE	13.6400	341.00	T
Port Collar		JPB	630.0000	630.00	т
Mileage pmp trk	25000	MILE	3.0000	75.00	Т
All Prices Are Net,	Payable 30 Days Foll	owing Subto	tal:	2828.15	
Date of Invoice. 1	1/2% Charged Thereaft	er. Tax	April 1993	181.00	
If Account CURRENT	take Discount of \$28	2.81 Payme	nts:	0.00	x
ONLY of paid within	-30 days from Invoice	Date Total		3009.15	,

Pont Collar

RECEIVED

KANSAS CORPORATION COMMISSION

7-11-07

JUL 1 1 2001

CONSERVATION DIVISION Release

MAR 0 7 2003

From Confidential